T ERE AR AR R B FE A1-10% 2 ERRF R AR A S (52 )
P 102107 30p
LR
A B A AR
o ivxf:_ o o (@If,; (=~/m) (=~/m)
1 | A+ | e 1101 361. 71 49, 200 49, 888
2 | Btk | mE 1102 306. 73 49, 200 49, 620
3 | Rir| &= 705 272. 75 39, 600 79, 091
4 | RBir| Ea 730 452.17 33, 600 39, 661
5 | Ak | &2 745 104. 54 33, 600 38, 800
6 | Ak| 22 805 380. 34 33, 600 35, 100
TR xR 904 405. 20 33, 600 48, 763
8 | Rir| &= 921 343. 66 32, 400 36, 500
9 | Btk| &2 963-3 145. 58 36, 000 36, 899
10 | B4k | £% 617 127. 51 33, 600 35, 220
11| Rtk | £2 671 296. 85 33, 600 36, 500
12 | B4k | £2 686 89. 22 33, 600 39, 930
13 | Btk | £2 703 160. 38 33, 600 40, 326
14 | Btk | P ik 446 288.51 31, 200 40, 008
15 | | e 940 342. 37 38, 400 39, 758
16 | Atk | £# 980 351.17 34, 800 35, 026
17 | B+ | & 1016 327. 96 37, 200 39, 999
18 | Atk | = 1030-1 102. 36 34, 800 38, 888
19 | A+ | e 1061 172. 27 34, 800 51, 999
20 | Rir| 2= 1075 213. 84 34, 800 50, 200
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PORME AP EHTD P EERMBEFE A1-100 2 CAS P R RS RF (B2 %)

Biep i - 102#102 30p

A A wARH
o - A /i) (%/ni)
(m)
21 = 120. 86 39, 600 48,708
22 = 140. 07 39, 600 99, 547
23 | Bt | = 324.09 42,600 52, 120
24 | Rtk 119. 33 37,200 38, 100
25 | Atk 200. 41 39, 600 42, 832
26 | B+ 441. 85 42,000 47, 880
27 | Atk | = 75.3 36, 000 39, 727
28 | Rk | = 490. 05 38, 400 49, 307
29 | Ak | = 277.°777 42,000 47,190
30 | B4 84.18 42,000 42,050
31 | Atk 261. 94 46, 800 51, 480
32 | Rtk 184. 89 46, 800 92, 838
33 | Atk 197.7 45, 600 47,789
34 | Rtk 254. 48 46, 800 49, 300
35 | Atk 113.58 44, 400 46, 700
36 | B4 165. 08 44, 400 45, 300
37 | Atk 345. 85 45,600 52, 937
38 | Bk 98. 31 46, 800 52, 222
39 | Atk 169. 76 45, 600 50, 000
40 | B+ 156. 87 45, 600 51,515
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